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iE % BREBRO AL HRITRE £
% # s - BRHE By B il & & 1

BRI 14,218,600 + 320,918 14,539,518
EEAGE 14,218, 600
EERE 320,918
Z DR 14,218,600 x 53.85% ( 35% = (1 — 35%) ) 7,656, 716
SRR 14,539,518 + 7,656,716 22,196,234
—REEEE 22,196,234 x 53.85% ( 35% = (1 — 35%) ) — 8,906 11,943, 766
KBS 22,196,234 + 11,943, 766 34,140, 000
B FEZET 34,140,000 x 10.00% 3,414,000
EBEREH 34,140,000 + 3,414,000 37, 554, 000




BEARRE BRERO BN NRIIR L

) R Big - MAKTHE Bl % 8 B & i) Hm =
BRI 14,539,518
BTE - B - AEEEB 14,539,518
BEFEEFREES 14,539,518
BLEFERE 14,218, 600
ETEE R 433, 500
1 EHEEEE 1.00 433, 500 433, 500
=
TEHEEHEEEN 804, 600
2 T EENEEGH 1.00 804, 600 804, 600
=
ESHMERZEEE LI=FRIC HER 11, 029, 200
3 HERETILDIER 1.00 3,611, 600 3,611, 600
=
4 BERBMETILOER 1.00 4,139, 600 4,139, 600
=
5 B NEFT DR 1.00 1,122, 400 1,122, 400
=
6 EFfEROEYFLD 1.00 2, 155, 600 2,155, 600
=
AHERRIEER 915, 400
7 BEREBEIEMER 2.00 288, 700 577, 400
[El
8 B RERHY 2.00 169, 000 338, 000
[El
thiE - |E 563, 000
9 EATHE 1.00 121, 800 121, 800
[El




BEARRE BRERO BN NRIIR L

) R Big - MAKTHE Bl % 8 B & i) Hm =

10 SRR E 2.00 121, 800 243, 600
=l

11 &RRI|E 1.00 197, 600 197, 600
]

REY 472, 900

12 £BTEREEER 1.00 472,900 472, 900
=

EEEE 320, 918

LESRE 14, 362

13 BiE 1.00 14, 362 14, 362
=

EBRARE 136, 556

14 =EHRAMRE 1.00 136, 556 136, 556
=

R 170, 000

15 EHHER 1.00 170, 000 170, 000
=




R &I/ \vr—2

BREROENG NERTRAES

&5 1
275 FHEEE IEED
£ b3 B - BIKTE =-Fiv] = fili ] W E w =
HEE
A 1.00 75, 800. 00 75, 800
F{EHRAm GRED
A 1.50 64, 800. 00 97, 200
HEm (A)
A 2.50 57,000. 00 142, 500
HEm (B)
A 2.50 47, 200. 00 118, 000
& Hi 1EZRERN  1.00K 433, 500. 00 433, 500
52
£ . T EE R EEEN 1%
% b R - KT BT 2 i 2 W E H %
FEHAR (F%E)
A 0.50 64, 800. 00 32,400
HER (A)
A 1.00 57,000. 00 57,000
HER (C)
A 9.00 38, 400. 00 345, 600
Hit &
A 11.00 33, 600. 00 369, 600
& B 1E%8ERH : 1.00=C 804, 600. 00 804, 600




R &I/ \vr—2

BREROENG NERTRAES

&5 :3
L HhBEETILOER 1%
£ [ R - KT B B =2 B {f £ W E i
F{EHRAm GRED
A 2.00 64, 800. 00 129, 600
HEm (A)
A 10. 00 57,000. 00 570, 000
HEm (B)
A 20.00 47, 200. 00 944, 000
HEh (C)
A 25.00 38, 400. 00 960, 000
i &
A 30. 00 33, 600. 00 1,008, 000
& B 1EZRERN  1.00K 3,611, 600. 00 3,611, 600
&5 4
2 BESMETILOMER 1R
% b R - KT B H = B O{f £ W E i
FEHAR (F%E)
A 2.00 64, 800. 00 129, 600
HER (A)
A 10. 00 57,000. 00 570, 000
HER (B)
A 20.00 47, 200. 00 944, 000
HER (C)
A 30. 00 38, 400. 00 1,152,000
Hiftg
A 40. 00 33, 600. 00 1, 344, 000
& it 1E%8ESN : 1.00=C 4,139, 600. 00 4,139, 600




RER-FET/\vr— BREBOENG NRITR N L

ES .5
¥ . ARG HETOERE 1%
£ b3 B - BIKTE =-Fiv] = B i ® 5 W E w =
F{EHRAm GRED
A 2.00 64, 800. 00 129, 600
HEm (A)
A 4.00 57,000. 00 228, 000
HEm (B)
A 4.00 47, 200. 00 188, 800
HEh (C)
A 8.00 38, 400. 00 307, 200
i &
A 8.00 33, 600. 00 268, 800
& B 1EZRERN  1.00K 1,122, 400. 00 1,122,400
S .6
B BIHEROLEYFELD 1%
% b R - KT BT B = B O{f * % W E H %
FEHAR (F%E)
A 2.00 64, 800. 00 129, 600
HER (A)
A 2.00 57,000. 00 114, 000
HER (B)
A 10. 00 47, 200. 00 472,000
HER (C)
A 20.00 38, 400. 00 768, 000
Hit &
A 20.00 33, 600. 00 672,000
& it 1E%8ESN : 1.00=C 2,155, 600. 00 2,155, 600




R &I/ \vr—2

BREROENG NERTRAES

&5 1
2% . ERFERERMER 1M
£ b3 B - BIKTE =-Fiv] = B i ] w =
F{EHRAm GRED
A 1.00 64, 800. 00 64, 800
HEm (A)
A 1.50 57,000. 00 85, 500
HEm (B)
A 1.00 47, 200. 00 47,200
HEh (C)
A 1.50 38, 400. 00 57,600
i &
A 1.00 33, 600. 00 33, 600
& B 1YEZRER : 1.00[E 288, 700. 00 288, 700
%58
£ ERFEER 18
% b R - KT BT 2 B O{f 2 H %
FEHAR (F%E)
A 1.00 64, 800. 00 64, 800
HER (A)
A 1.00 57,000. 00 57,000
HER (B)
A 1.00 47, 200. 00 47,200
& it YEZERES : 1.00[E 169, 000. 00 169, 000
59
% %5 : BAGE EEP
% L] g - BIRTiE ==Rivi 2 i £ g &
FEHAR (F%E)
A 1.00 64, 800. 00 64, 800
HER (A)
A 1.00 57,000. 00 57,000
= it YE%HES - 1.00[E 121, 800. 00 121, 800




R &I/ \vr—2

BREROENG NERTRAES

&S :10
2 PRRE 1mEHY
£ [ R - KT B = B {f £ w =
F{EHRAm GRED
A 1.00 64, 800. 00 64, 800
HEm (A)
A 1.00 57,000. 00 57,000
& Hi 1YEZRER : 1.00[E 121, 800. 00 121, 800
&5 . 11
27 REBE HEEP)
% b R - KT B = B O{f £ H %
HEnE
A 1.00 75, 800. 00 75, 800
FEHAR (F%E)
A 1.00 64, 800. 00 64, 800
HER (A)
A 1.00 57,000. 00 57,000
& it 1EZ8EH : 1.00[E] 197, 600. 00 197, 600
E5:12
2 EBRTRREER 14y
% L] R - KT ==Rivi = B @ %8 g &
FEHAR (F%E)
A 1.50 64, 800. 00 97,200
HER (A)
A 2.50 57,000. 00 142, 500
HER (B)
A 2.50 47, 200. 00 118, 000
HER (C)
A 3.00 38, 400. 00 115, 200
& it 1E%8ESN : 1.00=C 472, 900. 00 472,900




R &I/ \vr—2

BREROENG NERTRAES

=13
&% Bie IEED
£ b3 B - BIKTE =-Fiv] = B i ] w =
ElES
= 1.00 14, 362. 00 14, 362
& B 1EZRERN  1.00K 14, 362. 00 14, 362
ES5:14
&% EBARE IEED
% b R - KT BT 2 B O{f 2 H %
EBRARE
= 1.00 136, 556. 00 136, 556
& it 1E%8ERH : 1.00=C 136, 556. 00 136, 556
&S :15
&% EBHER IEED
% b R - KT BT 2 B O{f 2 H %
EBHRERERE
= 1.00 170, 000. 00 170, 000
& it 1E%8ERH : 1.00=C 170, 000. 00 170, 000




